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 Measures of Central Tendency

Find the mean, median, and mode for each set of data. Round to

the nearest tenth, If necessary.

1.25,24,29,27,24,23, 24, 2,
29,2324 4

3. 70, 85, 90, 65, 70, 85, 100, 60, 55, 95,
85,70,75

- ()70.63,75,64,89,54,79, 65
MG = Q.QN,m = 7
wjm.hm;@(j = An.b sJ

node - no .
Use the data at the right for Exercises 7— 12,

@éﬁ i8 the mode?

S O
(8.3What is the mean?

L2
t is the median?
GO

mctbo.wm. Sonya enrolls in the class and her .
welght Is 51 kg. Without computing, answer these
ﬂ:mua.oam. . .

{10) How will Sonya affect the new mean?
Fowotd 9o down
Y How will Sonya affect the new median?

 will mot P»ﬁﬁmﬁm :.

Suppose Hector now foins the class. His weight Is 70 kg.

@ When both Sonya and Hector join the class,
# " what are the new. mode, mean, and median?

mearn = Qm-w\
median = L O
{ s> 93

gglau

6.5,7,7,9,10, 10, 12

Proslems 5,9-12

58,3,10,7,8,10,3,8,6, 3,
9

4. 80, 70, 85, 90, 75, 75; 90

WEIGHTS OF STUDENTS

IN CLASS -
Name | Weight (kg)
Martha 49
Mary 60
Tom 58
Gene 73
Chip 67
- Meg - 60
Dottie 63
Sean 60
Kim 64
Ali - 68
Jesse 60




'Measures of Variation
Here are the weights, in pounds, of Bo!» in an aerobics class.

118, 112, 130, 106, 116, 146, 143, 129, 150, 132, 116, 118, 118,
109, .Em :A 124, 126, 124, 113, .-um 136, au .Bw 121, 134,

10, Which student is more consistent? Explain your

106, 129
1. What is the range of weights?

2. What is the median weight?
3. _UE anyone actually have the median weight?
4. What are the upper and lower aﬁmuwmm weights?

5. What is the interquartile range?

6. Write a ﬁmwmmamww describing the weights. Include
information about the whole aerobics &mmm and about the

middle half of the class.

The stem-and-leaf plots at the right show the test

TEST SCORES. FOR

scores for Kyle and Matt during the first quarter. - 1ST QUARTER
{ 7)Flow do their E&WE compare? Kyle - Matt
_ALA e d q | - -840
_ madt 6|59
A\d ow do aﬁu. H.mbm@m 88@8.% 40l6ls
feyle g M7 -4 .
Mmalti56 50 | 7| 0244589
9. How do apmﬁ interquartile ranges Sﬂwmw% 5320 (810
- b01I9

angwer.




mox.maa.iam»mn Eow

Use the box-and-whisker piot at the auau .
to answer each question. _

What is the median? o _ .
@Srmn is ﬂﬁ n.mbmm.v ‘

1 | l | I ] [ S| { ! I
i 1 11 | T 1 L) Ll I
@gﬁ is Eo nﬂumw quartile? 75 80 85 90 95 100 8:.. 115120 125 130 135
[ 2-0
What is the lower quartile?
Qo

hat is the Huﬁmﬁﬂmwgm range? .

6. What are the extremes?

7. What are the limits of the outliers?

i 8. Are there any outliers?

Use the box-and-whisker pict at the right
3 answer each question.

£9% What is the Eo&mag .
(10 What is the range?

= 55 . B e e S o A i S ot =
ATNWhat is the upper quartile? 40 45 50 55 60 65 70 75 80 85. 90 95 100

What is the lower quartile?
4T
{13.; What is the interquartile range?

40

M. iwmn are the extremes?

15. What are the limits of the outliers? .

.y -16. Are there any outliers?




NAME

-

14 -1 | Practice Worksheet
' Statfstics and Line Plots

1. The wgnmmm number of participants per day in SS»E
activities at Carl’s Country Club are listed by age groups.

Use the table to answer each guestion.

DATE .

Age

12.24 | 25-39 | 4059

60 and over
Swimming 79 | 65 41 18
Bicycling - b5 | 37 22 T
Jogging 51 31 13 2
Tennis 32 | 20 10 1
i

Golfing 16 | 13 13

. a. What is the most popular activity for people mm.wm 60 and

.. over?

b. What is gm.wmmmn popular activity for people ages 40-59?

c. What is the least popular activity for all ages?
d. Which .me group has the most participants in all

activities?

activities?

f. If you were age 60 or over and wanted to participate in -

e. ‘Which age group has the fewest participants in all

an activity with a-partner in your age group, which

activity would you want to avoid?

3The income of a private investigator for
each month for a recent calendar year is
listed in the table at the right.

Make a line plot of the data on the
number line provided.

_=nm3.m of a _uzcmmm. _=¢mm=nmﬂ.o_.. (hundreds of dollars)

_»_:X__.._.__A._w_:_._k_.__...:w_.___:l_.

50 55 60 65 70 75 80 8BS

-

“ByIn which months did the investigator
%= earn the least? D:...w +« Dec

, e In which months did the investigator
? % carn the most? Mawr, w%ef oct

106

Month | Income in Dollars
- January 6390
February 6390
March 7800
April 6390
May 6000
June 6000
July 5600
August 5130
September 7800
October 7800
November 7080
December - 5130

w@_.,mmmbﬂ@ the heaviest cluster of data in any 500-unit span
=" on the scale. |,p ¢, & m LOOC = GmGOV



- NAME _ . ‘ , DATE
14-2 | Practice Worksheet

‘Sten-and-Leaf Plots .
@mﬁw stem-and-leaf plot at the right below shows the scores

for & 100-point unit exam in a science class,

@ What were the highest and lowest Stem | Leaf
scoresonthis test? Q, « 2 5 |24686.
@gg test score occurred most 6 158
frequently? = ~+ 7 1244457
. Lt . 8 1238
@ In which 10:point interval did most 9 10256

of the students score? L¥%-717 12 w%w%.m nis .Nw.

@ How many students received a score
- of 70 or better? - |2 x

JHow many students received a score
less than 70?7 - =7 -

"2.JEach number below represents the ageé of a worker  Stem |Leaf

 at Fred’s Fast Food. | . Z|000 126 1
| 20,5172 39 467 58 W 48 36” 20 BT 26, 2103569

DO 30 49732 5950 35 35708 43 58 20 4 10% 5%q

- 3 Make a stem-and-leaf plot of the data. Use the Slot 2 S & |

- space provided. o
O How many people work at Frod’s Fast Food? Ml .\*
__ t.g/ What is the difference in the ages between the

oldest and youngest workers at Fred’s? "2 hd -
éﬁﬁum_w is the most common age for a worker? 2.6

: ' Which age group is most imm,q represented? 20
tf.gHow many .&ow_mmwm are older than 35 years? | %

3. Each number below w%wmmmﬁm.wozbm lots of XXYZ  Stem Leaf
stock traded each day over a 28-day period.

814 722 144 413 812 118 214 533 219 254
183 733 624 121 325 166 722 766 814 793
325 445 388 239 357 746 537 155

" a. Make a stem-and-leaf plot of the data in the
space provided. Round numbers of shares to the
nearest ten. .

b. How E_mu% times were more than 300 round

lots of stock traded?
107




| NAME __ . _ DATE
E 3 _usn:nm Eo..rm_.mﬁ

Emmm:%m of Central Tendency
_ Find the mean, median, and Boqm for each set of data.

umm:mw, | B wawumgwq

3.1,6,7,6,810, 10 | - 4.5,0,11,1,14,3, 4,7, 11

Find the Emn.ma and mode of the data shown in each line
_Eou

'}

T 8. : X
. X : X X X
X x“.mnmx.“x x“mu“mx“xxm
NEEEREEERENE
 Median- 5 : - | . - .
teod® - . . | o F
m._an__ the Bma_ma and mode o‘ the data shown in each stem-
m:u.ﬁ.& plot. |
7. Stem | Leaf. 8 Stem | Leaf Leaf
2 (13778 5 1578 5 [246.
3 019 6 1379 6 m.m%ﬁ
4 1244468 7 10466 7 1026869
2|3 represents 23. 5|7 represents 57. 8 115777
. 9 18-
.m_m represents 5.2
T DU ;1@0@ \ Q.z)
w. ..‘N (J‘Jﬁwnh I‘ﬂ
10. The prices of a sweater in six . 11. Jack’s scores on 20-point quizzes are
different stores are $31.95, $26.30, : 16, 18, 10, 15, 19, 186, 15, 19, 20, 16,
$29.00, $32.50, $25.25, and awm 00. - 12,17, 18, 15, 18, 14, and 16. Find
Find the mean and Bm&mu prices of . 5» mean, E,mm_m? and Eomm of his .
‘the sweater. quiz scores.

1nQ



NAME ____

L mox.maq. _‘_Sa»mx Plots

Compare box-and-wh
Q:mmzo:

-~
—-—

“R: 70
&= 70
{ Z)Which plot has the legser H.mwm%

~ A

LD, .& plot has the mwmmnmw
Eamu.ammﬁmm wmu%m.v

HCH

@ What is the upper quartile of each
set of data? -

@ - %0
~ B -¥5
4 6.JWhat is the least value in plot A?

50

m 5iWhich plot __Hsmﬁwmﬁmm the _mﬂm.mw
range of data?

&

) dﬁma percent of the mmﬂm in plot b
" is greater than 80?

JWhat is the Em&mn of mmor set ow data? -

DATE

RTm _uqmn:nm Eo_.rm:mm#

_mwﬂ plots A 2...& B to answer each

What is the lower mﬁ:.ﬁmm of mmor
= set of data?

Arwb

©:= 060
.73 What- is the mwmmnmmﬁ S&sm in E% w,v :

Jolol

-
-

|- JVhat percent of the data in Eoﬁ w
=18 between 60 and 857

509

What percent of the mmﬁm in plot A
" is less than 65?

25%s N 259
o . .
@ The numbers below H.mwwmmmbmv v eighteen-hole scores of a i
golfer at Crystal Springs Golf Club. Make a box-and- bk
whisker plot of z.:m data in the space provided, 70 4 z 72 ..,w 7 I 78 @ m
8474 80 79 g3 | gl
%ﬁw@wmw %I %2 wuwi w;w um
! mm 3
- @ :
|“||“~_h,"u____._____.“_““.__._ m
R ALRL I LA i o 20 o o
™ 75 80 g g

w. What is the median score?

77

14. What percent of the scores were
lower than 807




NAME . - _ o DATE
Practice Eo-.rmrm_o_‘ |
Scatter Plots

Whicts graphs show an association between the variables? i .
se.m_ is an association, is it positive, negative, orno correl P.T on V .

1

y 11y
S+ el
[ .
o .
- . Q i
. > ¢ 0, A x —
: !
_ I NN P BN _
Pos no neq :
— y Jo 4 y
- ] - -
1 b ¢ 0 X 0 X
[ ] . _ . . |
T . T . Ty
¢ No. - Nne /nu - pos
The average California Achievement Year zm:_o:,m:n.m Score | Science Score
Test scores for Wesley High School | 1985 | 60 65
Sophomores In mathematics and 1986 53 85
science for years from 1985 to 1989 | 1987 . 44 _ 57
are given in the table at the right. 1988 - 61 61-
. 198 0 67
“# Make a scatter plot of the data. L 1989 4 . - ]
. Use the coordinate plane . CALIFORNIA ACHIEVEMENT
provided. ‘ : TEST SCORES
. B K L L4
@Uomm the scatter plot show a positive or negative % 60 A
association? ﬂ oS £
) “ ‘6 50
§,9.gPredict the mathematics score corresponding W . N
to a s¢ienge score of 50. r+ O N arrarra—
. . . : - Mathematics

110, JPredict the science score corresponding to a
" mathematics score of 65, _




NAME . . __ DATE

14- w Practice Eo_.rm_,_mﬁ

ﬁ\ocmcEQ and Odds
Find the bBbuoEa\ of each outcome if a. die is _.o=on

-

f1gal & . _. 2. a number less ﬁrmb 3 - | =75
¢3)an odd number > - L 4. a number greater than6 O _ .
. : N~ 2 o o &
{ 5.Jan even number less than 6 6. a number greater than 0 L

= =4 S o~
Find the ﬁa« of each outcome R a die is rolled. : . |
‘..m._c.EEEEm of2 31 3 - 8. a number less than 2

or _o“

9, a factor of 6 : _ 10. a5

_".*...,,....Wu_oﬁ al 514 @ Hawa_umu. greater than 5 (%5

A card is selected at random from a deck of 52 cards.
13. érmﬁ is the probability of selecting a red card?

14, What is the vwcwmg:ﬂ of m&@aﬁﬁm an ace?
15. What are the o&m of mmumoﬁnm a &m.Eob%

16. What are the o%._m of not selecting a black 2?

The number of male and female doctors in Camron are listed
by age in the table at the right. Use this dala 8 answer the

«ozoian questions.

q y What is-the wuowmgrq that a mcaﬁow ogmmb Camron Doctors
~ 1is in the 45-54 age mwc:w_v 19+3 22 . i i
_@w I._I! - N.Nmu ﬂ\\l. .»ﬁ.ﬂ@ .| Male Female
m ﬂwﬁ is the vuovmgw@ that a aoﬁ.bw chosen Under 35| 39 18
Hm a W@B&Qﬁ I.NIUIW . . 35-44 36 m )
13 4554 | 19 3
_m  What are the odds that a doctor ogmg is a 55-64 17 9
’ female under years? | ¢ :r_. o =
What are the odds that a doctor chosen is a male N7
== between the ages of 35 and 54 years? 132 +otal
5 5¢ o | doctors

112




R - wrans wate

* Practice .2-7 g | Probability of Compound Events
@ tutconcu-ncoo-....-oooo..oo..oo-...oOoooo.-oocl.t..-ooot.o.oco....Couc.ocOOQOO.
. Gmﬁvvoﬁ you have a dark closet containing seven blue shirts, five yellow 7 + >+ & = 0
shirts, and eight white shirts. You pick two shirts at random from the £ % wl
closet. Find each probability. .

a., W,.wa . MFQ a. P(blue then yellow) with replacing b. P(blue then yellow) without replacing
-7 . C. P(yellow then yellow) with replacing d. P(yellow then yellow) without replacing
T 20 " Y e P(yellow then white) with replacing f. P(yellow then white) without replacing
= 7 g. P(blue then blue) with replacing h. P(blue then biue) without replacing

&0 ~A-and B are independent events. Find the missing probability.
2. P(A) = 3, P(A and B) = 1. Find 2(B).

3 3. P(B) = %, P(4 and B) = Z. Find P(4).
2 15
; 4. P(B) = i3, P(A and B) = 3. Find P(4),
2 5. P(4) = £ PB) = 3. Find P(4 and B).
< T . : o
Suppose you draw two tennis balls at random from a bag .ooﬂﬁb.h.bm 7 ..+ -3 Z = W
seven pink, four white, three yellow, and two striped balls. Find each - ¥ o
probability. ‘ . ‘ . . € W /\ ﬁ .m.. !
a. P(yellow then pink) with replacing b. P(yellow then pink) without replacing
¢. P(pink then pink) with replacing d. P(pink then pink) without replacing
W e. P(striped then striped) with replacing f. P(striped then striped) without replacing
" ¢. P(pink then white) with replacing h. P(pink then white) without replacing

A and B are independent events. Find the 1oissing probability.
7. P(A) = 3, P(A and B) = 1. Find P(B).
8. P(4) = 3,P(B) = L Find P(4 and B).

9. P(B) = = P(A and B) = 3. Find P(A).

10. P(B) = L, P(A and B) = 5 Find P(A). -

Use an equation to solve each problem.

11. A bag contains green and yellow color tiles. You pick twortiles at
random without replacing the first-one. The probability that the first tile
is yellow is m The probability of drawing two yellow tiles is W Find the
probability that the second tile you pick is yellow. -

12. A bag contains red and blue marbles. You pick two marbles at random
without replacing the first one. The probability of drawing a blue and
then a red is Hmm.. The probability that your second marble is red if your
first marble is blue is £ Find the probability that the first marble is blue.

© Pearson Education, Inc., publishing as Pearson Prentice Hall.

..Ill...tlIO...OIODO........‘CI.I...I.....ll-..I'......II.......IO....I.l....H

Algebra 1 Chapter 2 Lesson 2-7 Practice
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